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20 x700% =

28 x 400% =

67 x 200% =

81 x 400% =

4 x 500% =

100 x 400% =

79 x 200% =

73 x 900% =

46 x 800% =

55 x900% =

Aagull NGBS

16 < 900% =

9 % 300% =

58 x 200% =

10 x 800% =

71 x200% =

24 x700% =

58 x 500% =

16 < 400% =

26 x700% =

48 x 400% =
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20 x 700% = 140

28 x400% = 112

67 x200% = 134

81 x 400% = 324

4 x 500% = 20

100 x 400% = 400

79 x 200% = 158

73 x 900% = 657

46 x 800% = 368

55 x900% = 495

16 X 900% = 144

9 x300% = 27

58 x200% = 116

10 x 800% = 80

71 x 200% = 142

24 x700% = 168

58 x 500% = 290

16 < 400% = 64

26 < 700% = 182

48 x 400% = 192
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